SplashLearn

Word Problems

Solve the problems to find the answer.
(Show your work)

Henry wants to pack 30 apples in boxes. Each box can hold 4 apples each.
How many boxes will he require to pack all the apples?
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28 apples can be packed in 7 boxes.
The remaining 2 apples can be packed in 8th box.
So, 8 boxes are required to pack all the apples.

Lisa has 16 ribbons. She uses 3 ribbons to decorate a flower pot.
How many flowers pots can she decorate?

A teacher wants to place 75 books in shelves. Each shelf can hold 9 books.
How many shelves should she use to place all the books?




